S ¢4 +6=__ 8 ¢«¢5 + 20
4 ¢4 +8=__ 10 ¢« 5 — 30
7 ¢4 +2 = 6 ¢ 5 + 50
9 ¢4 -5=__ 7 ¢5-10
6 ¢4 -6 =___ 5e5 + 40 =
36 : 4 = 45 : 5 =
16 : 4 = 30 : 5 =__
28 : 4 = 20 : 5= __
8:4=__ 50 : 5 = __
24 4 = 35:5=__
48 — 2 = 53 + 4 =
67 - 5=___ 93 + 3 =___
89 -8=___ 26 + 2 =
36 -4 =__ 31 +7 = __
7% -3=__ 62 + 5= _
Im-60cm =__cm 70cm +
Im—-40cm =__cm 20cm +
meine Zeit:

Bestzeit:

Fehler:

Doris Donnerbauer 2005

Ich rechne alleine!
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69 —
45 —
27 —
98 —
83 —
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cm

9Oe2 -8 =

7 ¢ 2 —6 =

5e2 -4 =

10 ¢ 2 - 5 =

8e2 7=

18 : 2 =

10 : 2 =

14 : 2 =

6:2=__

20 : 2 = __

- 9% + 3 =

- 54 + 5 =

- 12 + 7 =

L 11 + 6 =

L 65 +3 = __
9dm 5cm =
3dm 9cm =

http://vs-material.wegerer.at
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